Example of Fire Flow Report format
NOTES:

e C(Coordinate Fire Flow test with Steven Wallace at Marsh USA, Atlanta GA
e Report must be dated no more than 6 months prior to Publix issuing it’s drawings
e Fire flow calculations should use a discharge coefficient of 0.80, as called for
in the Fire Protection Water Supply section of the Publix Site Development
Manual.

PREPARED BY:

DATE






FRICTION LOSS

EXISTING 12" PIPE =  J09LF
NEW 8”PIPE TO PARALLEL SYSTEM =  1I6LF
PARALLEL SYSTEM SHORTLEG =  2015LF
PARALLEL SYSTEM LONG LEG =  174L5LF
FROM PARALLEL SYSTEM TORISER =  63LF
: OF E H TING
12" PIPE
12X12X8 TEE 1 49.00 | LF
12" 45° ELBOW 4_ 62.00 | LF
[TOTALLENGTH | 111.00] LF ]
[TOTAL LENGTH OF EXISTING 12" PIPE 82000 LF |

) i - - wu MM- 3
8X8X8 TEE - 1 4200| LF
8" GATE VALVE 1 450 | LF
8" CHK VALVE 1 5200 LF
8" 45° ELBOW ] 11.00] LF |

| TOTAL LENGTH ] 109.50] LF |
| TOTAL LENGTH OF NEW 8” PIPE 22500 LF |
CALCULATION OF EQUIV. OR FIITi
SYSTEM SHORT LEG
QUANTITY | EQ LENGIH | UNIT |

'8XBXS8 TEE 1 ~ 42.00] LF

8X8X6 TEE 1 4550 | LF
[ TOTAL LENGTH [ 8750] LF |

[ TOTAL LENGTH OF PARALLEL SYSTEM SHORT LEG 289.00

LF |




0 FOR
SYSTEM LONG LEG
QUANTITY | EQ. LENGTH | UNIT

8X8X8 TEE 2 84.00| LF
8X8X6 TEE 6 273.00| LF
2" 90° ELBOW 1 2100 LF
§” 45° ELBOW 6 66.00 | LF
8" 22.50° ELBOW 2 600 LF

| TOTAL LENGTH | 45000| LF

[ TOTAL LENGTH OF PARALLEL SYSTEM LONG LEG 219150

LF




CALCULATION QF FRICTION LOSS PER LF OF PIPE

- NOTES

PARALLEL
PARALLEL
SYSTEM

FRICTION FACTOR,C = 100.00 FOR EXIST. PIPE
140.00 FOR NEW PIPE
GPM - 1248 GPM
Diameter, d (inch) = 8.00 FOR 8" PIPE
6.00 FOR 6” PIPE
12.00 FOR 12” PIPE
CALCULATIONS
FLOW COMPUTATIONS
_ NORE_ LENGTH FLOW PREDAMETER . —
L el ‘*‘*‘"ﬁ%ﬁ B0 T gpmy o B f‘*ﬁm %%&é MR
1 100 1248 12
i 225. 140 1248 8 5 4 2 ‘35
3 288 140 933 B A1 176
4 21915 140 315 8 4.1 1.78
5 83 140 1248 8 1.5 0.66
R R ST SRR A AR TR
" EXB ESSURELOSS | UNIT |
FOR EXIST. 12" PIPE: 222 PSI
| FOR NEW 8” PIPE” 4.77| PSI
8" DBL DRT CHK BFP
(BASED ON WATTS 4.50 PSI
MODEL 757 NDCDA)
TOTAL: 11.49 PSI




RANT T 3 ILATION

ELEVATION
AT HYDRANT = 922 FT
AT RISER = 936 FT
EL DIFFERENCE = -14.00 FT
FRESSIT RANT
STATIC - 185 PSI
RESIDUAL = 100 PST
PRESSURE AT RISER .
STATIC = 105-14.0*0.433
e 9894 PST
RESTDUAL = 100-14.0%0.433-11.49
] 82.45 PS1

ot

1100 GPM AT 35 PST.
FLOW @ REQUIRED PRESSURE (35 PSI)

PreLl Or = 1248 GPM

i Hy = 98.94-35
£3.94°% = §3.94 P51

Hp = 98.94-82.45

~ 16.49 PSI
On= 2594.37 > 1100 GPM
PRESSURE @ REQUIRED FLOW (1190 GPM)
pros - QuxHe” O = 1100.00 GPM
Or
o - 1100216.49% Hariaed
. Qr = 1248 GPM
Hg= 13.05
13.05=98.94-X

X=§5.890> 35 P8I
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